

$$a + aq + aq^2 = 11 \Rightarrow a(1 + q + q^2) = 11$$

$$\frac{a(1 + q + q^2)}{aq} = \frac{11}{q}$$

$$aq^2 \times a \times aq = 11 \Rightarrow a^2 r = 11 \Rightarrow aq = 11$$

$$11q = 11 + 11q^2 \Rightarrow 11q^2 - 11q + 11 = 0 \Rightarrow q = 1, q = 1$$

۱

$$x^2 = (x^2 + 1)(x^2 - 1) \Rightarrow x^2 = x^4 + 2x^2 - 1 \Rightarrow x^4 - x^2 + 1 = 0$$

$$\Rightarrow (x^2 - 1)(x^2 + 1) = 0 \Rightarrow x^2 = 1 \Rightarrow x = \pm 1$$

$$x = -1 \rightarrow 1, -1, 1, -1, \dots$$

$$S_{\infty} = 1 \times \frac{1 - (-1)^{\infty}}{1 - (-1)} = \frac{1}{2} = 0.5$$

۲

$$a + q + q^2 + a^2 + q^2 = \frac{121}{11} \xrightarrow{\times a} a + aq + aq^2 + a^2 + aq^2 = 11$$

۳

$$d = \frac{45 - 1}{4} = \frac{44}{4} = 11 \rightarrow a_n = 1 + (n-1) \times 11 \rightarrow a_5 = 1 + 4 \times 11 = 45 = A$$

$$q^4 = 45 \Rightarrow q = 3 \rightarrow t_n = 3^{n-1} \rightarrow t_5 = 3^4 = 81 = B$$

$$\frac{45}{3} + \frac{14}{3} = \frac{59}{3} = 19.66$$

۴

$$-11, -\frac{90}{11}, \dots \rightarrow d = \frac{-90 + 94}{11} = \frac{4}{11} \quad a_n: \frac{1}{11}n - \frac{94}{11}$$

$$a_{10} = \frac{1}{11} \times 10 - \frac{94}{11} = -\frac{84}{11}$$

$$11 \wedge (q)^4 = 1 \Rightarrow q = \frac{1}{11}$$

۵

$(a+rd)^r = (a+rd)(a+rd) \Rightarrow \cancel{a^r} + r\cancel{a}d^r + r\cancel{a}d = \cancel{a} + 1 \cdot da + r\cancel{a}d^r$ $\Rightarrow r \cdot d^r = r \cdot ad \Rightarrow 1 \cdot d = -a$	6
$(a+rd)^r = (a+rd)(a+rd) \Rightarrow \cancel{a^r} + r\cancel{a}d^r + r\cancel{a}d = \cancel{a^r} + r\cancel{a}d + rd^r$ $r\cancel{a}d = rd^r \Rightarrow a = d$ $a_f = \frac{Ea}{a_f} = \frac{Ea}{a_f} = \frac{Ea}{a_f} \Rightarrow q = r$ $f_n = \frac{1}{\pi} \times (r)^{n-1}$ $f_1 = \frac{1}{\pi} \times (r)^1 = \frac{r}{\pi}$	7
$r a_r, r a_w, a_f$ $E a_w = a_f + r a_r \Rightarrow E a q^r = a q^r + r a q \Rightarrow q q(r q) = q q(q^r + r)$ $\Rightarrow a^r - E q + r = 0 \Rightarrow q = 1, (q = r)$ ↓ بصورتی که با 1	8
$r, \frac{v}{f}, \sim \Rightarrow an = \frac{-1}{f} n + \frac{q}{f}$ $\left(\frac{1}{f} + n\right)^r = \left(x + \frac{0}{f}\right) \left(x - \frac{f}{f}\right)$ $\cancel{x} + \frac{1}{14} + \frac{1}{f} n = \cancel{x} + \frac{1}{f} n - \frac{0}{f}$ $\frac{r1}{14} = \left(\frac{1}{f} - \frac{1}{f}\right) \Rightarrow \frac{r1}{14} = \frac{-y}{f} \Rightarrow y = \frac{-14}{f}$ $a_f = \frac{0}{f}$ $a_n = \frac{1}{f}$ $a_{1c} = -1$ $\frac{0-r1}{f}, \frac{1-r1}{f}, \frac{-f-r1}{f}$ $\frac{-14}{f}, \frac{-r}{f}, \frac{-r0}{f}$ $\Rightarrow q = \frac{-r0}{f} = \frac{0}{f}$	9
$a + a q^r + a q^r = V^r$ $a q^r = a + d \sim \text{see}$ $a q^r = a + d \sim \text{see}$ $a + a + d + a + d = V^r$ $(a+d)^r = (a+rd)(a) \Rightarrow \cancel{a^r} + d^r + r\cancel{a}d = \cancel{a^r} + r\cancel{a}d$ $\cancel{a}(d+ra) = r\cancel{a}d$ $d = Va \Rightarrow \frac{d}{V} = a$ $V^r = V^r \Rightarrow a = 1 \Rightarrow \boxed{d = V}$	10